ikt (3030 ) HEREHRAK= v

: W7CC6197

NH1Ver. 4.0/R. 1.0

LR N DA ) SRR

k-1 I KIchs>
—— Q ,:|:, =u T 3N = Vil §+%% No.
H % ¥ & &% @ W 71 i "B F# # A
EHAFA R ¥ —AFREEFH (21K)
R EES
(1 POE-=Fnts i (1 Z |
B2 olkb (2 &=
2 KT Heik (3) ST
G = 1.500 TES T 204.5 kVA Fit % 0 i
XG4 = 0.150 ERET 0V TE RS JE N 0 Hz
xd’ g = 0.250 ER R 0. 800 TE K [ i 0 min !
AE = 0.250
7y = 0.889 4) SR H 7
; n JFESOFER] 7 -t &R (FEIRFRIH)
) B 4 TERHI T 184. 1 kW { 250.4 PS}
= 0.800 (i I TER [ 0  min’l
o = 1.100
a7 0200 (5) A 1.000
(4) =Rty
*x) = 1.000 e =tt4 et R k=
®d = 1.000 s 5 :
1
#
[

sk 1, 000AS D AIE, THBIRH I H D REICIIEH T £ A,

HAFAE Y Z—



NH1Ver. 4.0/R. 1.0

kRN B AR ) JE A B

Befatts (3030 ) BRRSfERAK= FNO:  W7CC6197
-2 BRI 14 @Emﬁéty5~§%%§§§ (&fK
=2 I EE U NN T
EES -3 TpAkin - (Bf#)
4 B e Ly H EERRWANDS ¥
B3 Z/ 1H i bl HL (kW) | DA o | s | D | o
FHh Mz
- ,%ﬁ:*g%un%% I-gi ﬁa ﬁ ]\H:l'jj llj:l'jj @Mﬁ] g *Eél i%%'f]:__’ EE EE i%%'f]:__’
K BB % W | w0 5H o | e | o | R D
i KVA =z di | Mo (kW) <A <B> <C> <D>
L | AR Y — MLO 1 1.90 1.90| L 0. 00 0. 00 0.00| —- 1.90 13.57 10. 99 8.23 7.39
2| B | FEGHEAR S MLO 1 3.70 3.70| L 0. 00 0. 00 0.00| — 3.70 26. 43 21. 41 16. 03 14. 39
3| B | FEEREAR T MLO 1 3.70 3.70| L 0. 00 0. 00 0.00| — 3.70 26. 43 21. 41 16. 03 14. 39
4| ¥ | BT ey MLT 1 37. 00 37.00| Y 0. 00 0. 00 0.00| —- 37.00| 205.66| 154.89 36. 62 19.90
5| H | BRI ey MLT 1 37. 00 37.00| Y 0. 00 0. 00 0.00| — 37.00| 205.66| 154.89 36. 62 19.90
6| H | BABKRY T VFT 1 5. 50 5. 50 0. 00 0. 00 0.00| —- 5. 50 0. 00 0.94 -3.65 1. 11
T H | EARKT VFT |x1 5. 50 5. 50 0. 00 0. 00 0.00| — - - - - -
8 | B | fHfbigpEsR A T MLO 1 3.70 3.70 | L 0. 00 0. 00 0.00| — 3.70 26. 43 21. 41 16. 03 14. 39
9 | B | fH{bIIEER AR MLO |1 3.70 3.70| L 0. 00 0. 00 0.00| — - - - - -
10 | B | AZFELE D CRE) MLT 1 3.00 3.00| L 0. 00 0. 00 0.00| — 3. 00 25. 00 20. 94 13.00 11. 66
11| B | {EEAERCRE) MLT 1 2. 00 2.00| L 0. 00 0. 00 0.00| -—- 2. 00 16. 67 13. 96 8.67 7.78
12 | B | FBAT - Bh 0B P1 1 6. 00 6.00 2. 00 2. 00 2.00| — 6.00 6. 00 -2.22 1.99 -0. 68
13| B | AT - avkU b FL 1 0. 30 0. 30 0.10 0.10 0.10| — 0. 30 0. 30 -0. 11 0.10 -0.03
14 | ¥ | MEEAER P1 1 2. 00 2. 00 0. 60 0. 60 0.80| —- 2.00 2.00 -0.73 0. 66 -0. 23
15 | B | GHEEHIEE R P1 1 2.00 2.00 0. 80 0. 60 0.60| — 2.00 2.00 -0.73 0. 66 -0.23
16 | B | il R Pl 1 1. 00 1. 00 0. 30 0. 40 0.30| — 1. 00 1. 00 -0. 36 0.33 -0. 11
17 | B | JLAUPS oVl 1 2.00 1. 80 0. 54 0.72 0.54| — 1.80 2.00 -0. 46 0. 60 -0. 20
R AR A FME K= 110.60 4.34 4. 42 4.34
ALIEPAC CINEE : : : : | oMl | BOfE | OO | D>l
Bl A= 442 B | ERL | DKL | BERY | SRR
. ) B . 7% AS) 7% 7%
wofE - A= 4.34 = mi=My= | mi=My= | mi=My = | mi=s=
G L .
Fobf o= 434 37.00|  37.00| 37.00|  37.00
N>i=ks/Z mXmi B>i={ks/Z m—d /(7 bXcoséb)}Xmi KC>i={ks/ZmXcosfs—(e —a)Xd/zh}Xmi D>:=(ks /7 mXcosfs—d/yh) X mi

(PP L= L _—Z —EAfD

J:% 3 BRSOy /o BT 7L T2, )

V=T R D

I HECOmEIE R

HAFAE Y #—



Hekmibs (3030 ) BRA&ALAK= Y FNO:  W7CC6197 NH1Ver. 4. 0/R. 1. 0
—WRALEE N B AN R E R G S

#R-2(2) IR AE> T4 EEAKFAE V¥ —HFRE R (B8
HFEIEERM I IFHE S — ~ (AR)

7 1H A LA SRR AN W) | e, AR B A SR
i g Bi| B AH| D %\g’ﬁﬁ % | fE s
2| P B BB || W | wiGn | RiGan | R|OBAR | ey MR L

A i kVA LA O© ® ® hki 7i | cosfi @ ® ®

1H | B R7 ) — MLO 1 1.90 1.90| L - - - - - - - -
2| B | WERER T MLO 1 3.70 3.70 | L - - - - - - - -
3| H | WREHEEA T MLO 1 3.70 3.70| L - - - - - - - -
1 H | BTy MLT 1 37.00| 37.00)Y - - - - - - - -
5l H | BRIy MLT 1 37. 00 37.00 | Y - - - - - - - -
6| B | BEABHRT VET 1 5. 50 5. 50 5. 50 5. 50 0. 00 0.491|  0.800 1. 000 3.38 0. 00
TIH | BEABRT VFT |[* 1 5. 50 5. 50 - - - - - - - -
8| Hi | AMLIRAEBR AR 7 MLO 1 3.70 3.70| L - - - - - - - -
9| B | mbikfEER A T MLO | 1 3.70 3.70| L - - - - - - - -
10| B | AFFEELEERME RO MLT 1 3. 00 3.00| L - - - - - - - -
11| B | PRI ORE) MLT 1 2.00 2.00| L - - - - - - - -
12| B | AT - B P1 1 6. 00 6. 00 - - - - - - - -
13 B | BRI - 2k b FL 1 0. 30 0. 30 - - - - - - - -
14| B | ERAER Pl 1 2.00 2.00 - - - - - - - -
15| B | FHEHI#ER P1 1 2. 00 2. 00 - - - - - - - -
16| ¥ | HI#EER P1 1 1. 00 1. 00 - - - - - - - -
17| ¥ | JLAUPS oVl 1 2. 00 1.80 1.80 1.80 0. 00 0.532]  0.900 0. 900 1.18 0. 00
Ao £ = 110.60 7.30 7.30 0. 00 41.56 0. 00 0. 00
hb =1.3/{2.3 - min (1, R/K )}=1.3/{ 2.3 - min (1, 2@ /K )}= 0.582
ok = 1= 0.413 X BB/ R4= 1- 0.413 X min (2@, 2@)/ max (£@, @)=  1.000
H = hb X ) [S{(R67X hki)/(yiXcos#i)}]?+ S {(R37 X hki)/(yiXcosfi)IX phl? = hbX |[S®*H+ (S@ X hph)? = 2. 65
RAF=0.800 X min(#,32® ) = 0. 00

EHARFEAEE S 2 —



Bkttt (3030 ) HEAStERAK= > FNO:  W7CC6197 NH1Ver. 4. 0/R. 1. 0
—WRALEE N B AN R ERIE T S

BER-3 B R 4 . EEKEER S ¥ —BFREEFE (2K)
HEERMH DGR — b G8EMK)
- 1 1 - 1 I S AT RS
G, ) X D X SF X e o gog < 1.000 X 1.000 x 0,800 1.393 o
AP = A+ B - 2C = 4.42+ 4.34- 2 X 4.34= 0.08
(4 -c¢ ) _ ( 4.42 - 4.34)
) AP ) 0.08 - 1.000 1.393
Sf:4/1+ A]f +(A/f )2 X (1 - 3u + 3u?)
_ 0.08 0.08 . 5 ~ 9 _
«/ 1+ —oe0 ( 110_60) X (1-3 X 1000 +3 x 1.000 2) 1. 000
RG, TR _ (1 - AEF) % yd’ e X ks % M I EIERE T AR
AE i 7 m I3 RG>
flis (0) B (1 - 0.250) 0.667 37.00 _ 1.395
- 0. 250 X 0.250 X —5ay X o060 = 3%
S i S d X (1 - My ks W FERSRE T ) HIAREL
RGs KGs ( 7b X coséb ) K 7 m K Ga
_ 1000 ( 1.000 w (1 - 37.00 - 0.667 37.00} 1 849
1.500 ( 0.885 x 0.823) 110. 60 0.120 110. 60
= 1.849
1 1 2 A7 Bi ci 2 2 < SR A L T
o H - RIF + - U ¥ % (1-3 3 AT R I AR S
PG - K X KGy Xﬂ/ ( ) €z n1Xcost 7 tE 7 1Xcosl 7 2 Xz 7 1Xcosld 7 ) ( vt 3w G4 -
T4
X 7 = A X R671 X hki 2., ¢ K371 X hki 2
v v tE( 7 i X cosd i R i X cosl i ) X dph ) 0.160
_ 1 1 _ 2 2 _ 2
110,60 X 0,150 X ﬂ/ ( 2.65 0.00)% + ( 0.10)¢ X (1-3 X 1.000 + 3 X 1.000 <)
= 0.160
RG = RG< 3> = 1.849 RGL, RGa, RGs, RGa D 5 Bl KAl RG 1. 849
FEMFHEL T ¢ ¢ = R6 X K= 1.849 X 110.60 = 204.43  (kVA) FEMEKE T ¢ G = 204.5  (kvp)

i & 16 OEDIBUL LD E T 5, - )
HABEE S ¥ —



ekt (3030 ) BRREStERAAK= v FNO:  W7CC6197 NH1Ver. 4. 0/R. 1.0
AR AEEE A B A TR S
R4 e RI > 4 EEKEA YV Z — HFRE R (21K)
HEREERMEIITE > — b (REhg, &5)
= 1 (1) = (—1 ) x 1.000x (—1 )= 1253 TERAR IR
R sl P T 0. 898 0. 889 RE. 1,253
R, _ 1 X { (e - a) X d x (1 - Mo’ Y o+ ks X cosfds X Mo’ } A RIS 28 B Y AR
¢ ng b K 7' m Ve RE»
1 1.000 1..000 37.00
X X ) - ) X X - 1.494
0. 800 0. 845 t( 0.800- 0.200) 0. 885 ( 110. 60 )
0. 667 37.00
+ e X 0.300 X —rianm
4w 0.120 110. 60
1 frs d W ks i’ 2 O NalE
s = 7/ X pye X Y X (1 7 ) + 7 X cosls X 7 } FE;
1 1.000 1..000 37.00 0. 667 37.00 1.410
= X X - X . X
1.100 0. 845 { 0. 885 ( 110. 60 )+ 0.120 0.300 110. 60 }
= 1.410
RE = RE<2 > = 1.494 REV, RE 5, RE3D 5 5 IR AE KE 1.494
PRI T= = 1,494 110.60=  165.15
H 7 E' = RE X K= ) X .60= ) (kW)
. |- 4 X e - 1515 5 0889 - 0.897
EC G X cosbg 204.5 x 0.800
I b MR = 0.897 (MR<1.0DT=% MR=1.0& L FxZ i) Ex = 184.03 (kW)
whn ok M = 1.000 i o= 184.1 (kW)
Eo= 184.1 (kW) e y
B REDRE O S ¢ = 2045 (kVA) JE = 0.800 250, 4 #S) 74~ R CRIRFRITE)

fii & EIXE XL ExOELL Lo L+ 5,

R 2 —



